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A 151 60.0 26.3 32.7 A -7 49
B 154 60.8 25.6 26.8 B -4 16
c 160 46.2 18.0 205 c 2 4
R 169 50.0 175 19.9 R 11 121
S 150 50.0 222 17.8 S -8 64
T 162 53.0 20.2 28.3 T 4 16
o~ 0 412
E m 158.0 51.2 20.6 235 | @ HELv 21.6842
H# 20 20 20 20| O|ZERESs 4.6566
=X 169 60.8 26.3 390 | @| EERHE 2.9%
=/ 150 44.0 16.8 16.1
BMI ={AH (kg) + {& & (m) D 2 F} ORZE=%T—% —FPHE -~ FTRAIFRFCTD (FEHAEER
@458 (variance) =fF7ED 2 TOEF+ (5 —1)
OIEHE(R = (standard deviation) =23 @D FEHR GLOENBIMEZ D)
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29 FR(em) | KE(ke) BMI {ARRE R ZE (%)
30 B =var( ) 21.6842 31.6475 7.2966 32.7497
31 ZHEfRE =stdev( ) 4.6566 5.6256 2.7012 5.7227
32 EEFZRE =s/m 2.9% 11.0% 13.1% 24.3%
34 FHEBEFEHR R"2
35 EELAE -0.12457 | 001552 Excel B3%% ‘
36 5E&BMI -055136 |  0.30399 i =VAR (20 fF DT —%)
37 BREEIEHE 0.01315 0.00017 - EUEEFE  =STDEV (20 frDF— %)
38 AEL BMI 0.89456 0.80024 - FHR94%% =CORREL (K% 1, Mi%12)
39 ARELKREBIE 0.68146 0.46438 (correlation)
40 BMI L{KRgR R 0.56998 0.32488
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HR(cm) 1
KE(ke) -0.12457 1
BMI -0.55136 0.89456 1
RHEFRZE(%) 0.01315 0.68146 0.56998 1
QL TERBRAUEDEK (LOEREFIHL TKRD D)
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HR(cm) 1
KE(ke) 0.01552 1
BMI 0.80024 1
N ESC) 0.00017 0.46438 0.32488 1
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